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DEPARTMENT OF GOVERNMENT EXAMINATIONS
HIGHER SECONDARY SECONDARY YEAR EXAMINATIONS SEPTEMBER - 2020
PHYSICS ANSWER KEY (NEW SYLLABUS)

Answer written with Blue Ink only to be evaluated.
Choose the most suitable answer in part A from the given alternatives and write the

option code and the corresponding answer.

For answers in Part-ll, Part-111 and Part IV like reasoning, explanation, narration,
description and listing of points, students may write in their own words but without

changing the concepts and without skipping any point
In numerical problems, if formula is not written, marks should be given for the

remaining correct steps.

In graphical representation, physical variables for X-axis and Y-axis should be marked.

PART- (1)

Each Correct answer carries one mark

16 X1=15

1| c) | Morz than before
2 b l1kw _ -
P 177
E G e NVaIn N
=t é_}___i S e Lo | !
6 9 O
| 7. d) TErua-rgy density _
8 | d) | 927X10%Am? - |
'__ﬂ_Q._____c_} | Frequency modulation -
No
I N Y o _
o d) 0.1H
12. b) | *€oE?
. i

3. | b) 3750A°
4. b)  Phosphorous

15. I c)

90°
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PART Il

Answer any six questions.
Q.No 24 is compulsory

2 Marks Answer:

&  The shortest distance between the transmission and the point of

6X2 =12

1X2=2

2X1=2

2X1=2

2X1=2

mirror far away from the pole
= 1 Mark

2X1=2

__reception ) -
i) Cut off wavelengh
Ao= 12:“” A° = 0.62A° = 1 Mark
i) Cut off Frequency
| yo= 5 = 3X10%0.62X10°"
= 4.84 X10"®HZ = 1 Mark
| | (If unit not mentioned reduce 1/2 Mark)
Lenz's Law:
The direction of induced current always oppose the cause
responsible for its production
= 1Mark
d. ~d
e—N — (crjex =2 = 1 Marlk
t dt:
| {if write oniy eguation allol 1 mark)
. dv d ' o
o e i 2 = »
| E-= i (5x“+5x) = 10x+5 1 Mark
19 | =
X=1C.m=10x+5=15— = 1 Mark
cm
| Photo voltaic cel
i) Any sensitive element made of semi conductors is used to
20 | generate voltage = 1 Mark
ii)lt is proportional to the intensity of light or other radiations
I = 1 Mark
1) Paraxial rays:
The rays travelling very close to the principal axis and makes small
oy | angle with it = 1 Mark

2) The rays travelling far away from the principal axis and fall on the
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Neutron is made up of one up quark and two down quarks
= 1 Mark

Proton is made up of two up quarks and one down quark 2X1=2
: N - . N = 1 Mark
23 Uses of X — rays:
' 1) Studying structures of inner atomic electron shells
2) detecting fractures diseased organs 2% 1=2
3) Observing the progress of healing bones )
4) Detect faults, cracks and holes (Any 2 Paoints)
, - o - = 2Marks
24 Acceleration (a) = —
= -19 =31 -
= 570X1.6X10°"%/9.1X10 = 1 Mark 2X1=2
a = 100.29X10'2 m/s? = 1 Mark
(For equivaler_lt value t:_:f_answe_anarks can be g_iven}
PART Il
Answer any six guestions : Q.No 32 is compuisory BX3 =13
= Decayed part cf A atom = 15/16 {0) 53.75% - 1 Mark
Decayed part of B atom = 3/4 (or) 75.00% =1Mark
Ratio between A and B atoms (or) 3
' Na/Ne=5/4 (or) Na:Ns=5:4 (on
| Na:Ns=1.25% (or) equivalent answer 1.25% =1Mark
| i - .
|26 The algebraic sum of the currents at any junction of a circuit is
Zero =1% Marks
(on
Equation only (or) diagram = 1 Mark

In a closed circuit, the algebraic sum of the products of the current
and resistance of each part of the circuit is equal to the total EMF
included in the circuit. =1% Marks

(on

Equation only (or) diagram =1 Mark
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= = 1
| 27 = = =1 Mark
f=2500 KH, - % Marks
|
Q — Factor = "’TL =1 Mark
Q=125 ' = ¥ Mark
28 ¢=§ €dA (or) ¢ = § EdAcos -1 Mark |
|
- Q
E'me,,rz =1 Mark
¢=E% (or) ¢=‘:—f o 6ir =1 Mark
(or)
i ' Gauss's law (or) coulomb's law definition only =2 Marks
| 29 Dia any one property | =1 Mark
- | Faia any one property =1 Mark |
| | Ferro any oine properiy =1 Mark i
" 30 Laiger bardwicth, so informatici 1T 7T [
v | Carrying cagpacity is higrer =1 Mark
i ‘ Cheaper than copper cables =1 Mark

Fibers are not electrically conductive, so isolation
i required from electrical and electromagnetic
| interference =1 Mark
(or)
Three uses of fiber optic communication
(or)
Three merits of fiber optic communication

'31 | Special features of photon Any three points
3X1=3
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32 Outputof A& B

| 'A+B (on AB (on AB

| Output of C : C

‘ Output of circuit : y=ABC

33 # Correct definition

Part - IV
Answer all questions:

34 Construction diagram and explanation

@

Working
vs_Ns P _k
Vp Np Is

efficiency definition (or)
- n = Output power / input power X 100%

| Any two condition for the total internal reflection

www.CBSEtips.in

= % Mark

Y2 Mark

1]

2 Marks
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34 | Prism — angle of minimum deviation diagram =2 Mark 1
(b) and explanation ‘

5
d=(is-r1)+(i2-r2) = ¥ Mark
(ri+rz) =A = Y2 Mark
d=(i1+iz) - A = %2 Mark
‘ | hSig=i, F=rz=r = Y Mark
N
| = "“,“{‘If? = 1 Marl
‘35 (a) _‘ Wheatstone's bridge diagrarn =1 Mark
|
|
. |
|
|
| |
5
| ‘ l1-lg-13 = 0
lz+lg-14 = 0 =1 Mark
I1P+IcG-I;R = 0
‘ I1P+1:Q-14S-I2R =0 =1 Mark
‘ lc=0, h=1l3 2= ls =1 Mark
l Ly =1 Mark |
Qg & |
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'35 (b) | Definition of Ampere's circuital law - =1 Mark
L (or)
$ B.dl = pol
Diagram of long straight current carrying
conductor producing magnetic field and explanation =1 Mark

| .
2nr -
| Bf," dl = pol =1 Mark
B.2mr = wol
‘ = £ =1 Mark
inr
B =2 A = 1 Mark
| _ ____Im' N I S — e
36(a) 'Electren rwomng the nucleus diagrarm and
exnlznaticn =1 Maik
[ Protoes i aksanied to be itationary
‘ l 'flltlﬂn [ . O oo
| X v = h:llllm' ﬂ
'HH....'I
\ Y
ﬂ-uu-%
— | (+ze)(—e) = 1 Mark
‘ F Coulnmb_meo o f a
- : -ml
F Centripetal = — = 1 Mark
n
|F Coulomb |= |F Centripetal |
LmV or .
\ - - Mk
Zr'.l'u2
il - E h? ) n#
Fo ﬂ'rru'i

| n? -
‘ fh =8, — =1 Mark
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Fa(bf_’ Any six properties of E M. Waves
ly=5
B
_ 3x10* _ B
| V= — o= = 1.5X10° m/s
T

'37(a) D

agram of lens makers formula and lens equation = 1 Mark

l_ __{ﬂz-hjl _: 4 __)

usa, v=f srruﬂm

. 1
nz=n n=1 ﬂ'ﬂlﬂﬂ.‘l-}=[ﬂ- 1){5—

1

#?

www.CBSEtips.in

|
= 1 Mark

= 1 Mark

=1 Marr

=1 Mark

=1 Ma_rk

“exirz=aMarks |
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37(b) | Circuit diagram of ans
Ircuit dia r s e
diagram gram of transistor as an amplifier, input, output signal
=1 Mark
|
| |
Explanation =1 Mark
Working
- First positive half of input signal =1% Mark
| - negative half of input signal - = 1% Mark
'38(a) i) Electron emission dragram with expianation = 2 Marks
|
hy= g + V2 NIV2
: hye= &,
hy= hy,=% Mv* = i Mark
i
; K max =% Mv? max
| K max = hy - ¢, = 1 Mark
i) A) Work function increases stopping potential increases
= ¥ Mark
B)Intensity of incident radiation increases stopping potential
= % Mark

i does not change
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o _ Ed E
v =Ed Er Er
2% o Qo
G ET‘,M‘= ErC;
| A_El' _EA
Ay & ———
d e
| ll:i_"_z=_1_§-_=i=&
= (B 2 ErC, T

Energy value decreases

———
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Circuit diagram of capacitor di |
. . pacitor di
(with dielectric) sconnected from battery

=1 Mark

=1 Mark

= 1 Mark

=1 Mark

10
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